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Rebar Rebar
Dimension Dimension
) (mm, deg) Number Total Unit Total Extra (mm, deg) Number Total Unit Total Extra
Mzarfk D'sxéef gﬁ:a; Lm%h of | Length | Weight | Weight |Quantity | Remark MBaarrk D‘,’:‘gr:ée’ glf:ag L?;%h of | Length | Weight | Weight |Quantity | Remark
P A B c D E Rebar (m) (kg/m) | (ton) | (ton) P A B c D E Rebar (m) (kg/m) | (ton) | (ton)
A A
D4 13 % 25,090~21,964) 880 24,407 51| 1,253.6 T1-1R|  S13 ﬁ 1,912 220 740 2,872 11| 31.592
A A
D5 13 %l 25,090~21,648 880 24,407 60 | 1,480.7 T1-2R| S13 ﬁ 1,912 220 1,290 3,422 11| 37.642
A
D6 s13 |:| 25,090~22,538 880 24,407 60 | 1,480.7 Te-1) 813 3,484 3,484 1| 38.324
L]
A
To-2| 813 3,484 3,484 11| 38.324
H1 13 4 N = 697 100 897 564 | 505.908
T2 13 A 2,420 2,420 282 | 682.440
H1-1 13 é R = 864 100 1,064 1| 11.704
T3-1L| 13 @&@J 198 740 1,127 2,065 10| 20.650
Hi-2 | 13 é N = 864 100 1,064 1] 11.704
T3-2L| 13 g 198 740 1,127 2,065 10| 20.650
H2 13 é R N 414 100 614 564 | 346.296
T3-1R| 13 g 198 740 1,127 2,065 10| 20.650
Ho-1 13 4 R Ne 513 100 713 1] 7.843
T3-2R| 13 g 198 740 1,127 2,065 10| 20.650
He-2 | 13 é R Ne 513 100 713 1] 7.843
13 13 g 198 740 740 1,678 546 | 916.188
R1 13 4 R Ne 255 300 855 586 | 501.030
T4 13 A 1,600 1,600 273 | 436.800
R2 s13 é R = 212 300 812 586 | 475.832
T4-1 s13 A 2,303 2,303 20 | 46.060
R3 13 } 526 275~134 100 1,135 540 | 612.900
Wi s13 A 2,420 2,420 586 | 1,418.1
st 13 526 146 100 1,018 905 | 921.290
Sub Total 22,093.5 | 0.955|21.983 | 22.642] ADD 3%
s2 s13 } 526 146 100 1,018 905 | 921.290 hid 516 A 1,500 1,500 26 | 39.000
A A
3 13 ﬁ 9 100 294 700 | 205.800 CH1 516 @} 200 300 870 500 730 2,600 18| 46.800
-Ar
sS4 s13 H 94 100 294 700 | 205.800 CH2 516 A 3,643 3,643 24| 87.432
A
m 13 ﬁ 1,380 220 1,290 2,890 564 | 1,630.0 NAT 516 @I 100 470 470 500 1,540 18| 27.720
TI-1L| 18 ﬁ 1,912 220 1,290 3,422 11| 37.642 NA2 516 A 3,643 3,643 12| 43.716
Sub Total 244.668 | 1.560 | 0.381| 0.393| ADD 3%
Ti-2L| S13 1,912 220 740 2,872 1] 31.592
Total 22.364 | 23.036
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Rebar
. Dimension Number Total Unit Total Extra
Bar | Diameter Rebar Length f
Mark Name Shape (mm, deg) ?;ﬁ) Robf Le(ng)th \(Nsu}qh; M;elwgh)t Qu(alnt\)ty Remark
_ —_ ebar m g/m on on
= = MY XI= Clo _
AlME =F ot A-A AlEE =F ctH B-B " . ¢
A
60,300, 40 F3 H13 297~3,800 1,873~2,067 16| 31.520
1100 » —
A
F F4 H13 3,459~3,808 3,459~3,808 2| 7.267
A
F5 H13 3,644~3,979 3,644~3,979 2| 7.623
N
o
- A
e o s F7 H13 297~3,800 1,873~2,067 20| 39.400
o <
3 A
[er] [ep]
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o
0 A
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— - A
N _ 5 ’ -3 841 ~3,841 4| 14.682
| ;I__' 5 3 K H13 3,500~3,8 3,500~3,8 68
I — T = =
LL— = St H13 E‘_—_'j 171 100 37 21| 7.791
A
100 500 [°Y400] [100
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" M 52 H13 E‘_—_'j 123211 100 363~367 23| 8.401
A
W H13 E‘_—_': 1,348-3,076 200 153 2,565 33| 84.645
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Ao xz2l = = AMHMO xzZl= =
FHZ ZEHE AMES FHZ ZEE AMES N
w2 H13 3,490~3,840 3,490~3,840 8| 29.320
(1Cycle) (2Cycle)
S=NONE S=NONE A
rﬂ W W3 H13 1,637-1,910 1,637~1,910 15| 26.739
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H19 H19 s H13 1,637-1,910 1,637-1,910 15| 26.739
[ ] 1
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wo H13 3.859~4,245 3.859~4,245 2| 8.104
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Sub Total 344.545| 0.995 | 0.343| 0.353 | ADD 3%
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<
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@Hﬂi Ial @ms
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L | | )
K1) Hig ’ " ¢ H19 m 700 700 1,400 25| 35.000
c2 H19 m 700 700 1,400 25| 35.000
Sub Total 70.000 | 2.250 | 0.158 | 0.162 | ADD 3%
Total 1.105| 1.138
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